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1. Fill in the missing information for each tire size. Find the circumference of each tire.

Tire P245/70R16 P285/75R16 ‘
Width (mm) 245 285
Aspect ratio (%) 70 75 |
Height (in.) 6. 7520 84154 ‘
_|
Diameter (in.) 29.504 32.8308
Circumference (in.) 92.6895 103.1410
h
—————— =070
245
1 L.

hetght/width = aspect vatio  Therefore, h=0.70 » 245 mm *

a h=&.7520 .

diameter of the P245/70R16 tire in inches = 2 * height of tire + dianeter of tire’s rim

25 4 i

2+ 6. 7520 + 16 = 29.504 .

oirewmference of the P245/F70R16 tirve is T(29.504) = 92.6295 tn.

=075
285 i

1 L.
Therefore, h=0.75 + 285 mm » ——————
254 mn

h=g.4154 Ln.

diameter of the PRE5/75R16 tire iw tnehes = 2 * height of tire + diamceter of tire's rime

Segaisa + 16 = B2 @308 L.

sirownmference of the PR45/F0R1G tirt is M(32.8308) = 103.1410 in.
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2. After one rotation of the wheel, how many inches further has the truck with the larger
tires traveled than the truck with the factory-installed tires?

103.1410 - 92.6895 = 10.4515 n.

The Larger tive travels 10.4515 Lnches further with each rotation.

3. After one rotation of the wheel, the truck with the larger tires has traveled times
further than the truck with the factory-installed tires.

103.1410/92.6895 = 1.1128

The truck equipped with the Larger tires travels 1.1128 times further with each rotatiow.

4. Use the results from the table in Question 1 to assist in completing the following
statements about the truck after the larger tires have been installed on it.

If the odometer reading is 22//0//0] 010} you have actually traveled miles.
If the speedometer reading is 60, your actual speed is miles per hour.

The following principles apply when determining actual distance and speed traveled

according to tire size:

S L L

Actual mileage = k « odometer reading (mileage)

Actual speed = k « speedometer reading (miles per hour)

"|=

. circumference of bigger tire
HEEEE ST circumference of factory-installed tire

wee the value of k = 1.112€ for the two tires in comparison, 1.1128(20,000) = 22,256
ilee (actwal) and 1.1128(60) = 66. 768 wmiles per hour (actual).
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5. What is the percent error in the odometer readings? In the speedometer readings?
(22,256 - 20,000)/20,000 = 0.1128 or 11.28% (odoweter)
(66.768 -60)/60 = 0.1128 or 11.28% (speedometer)

The percent ervor s 11.28% for both readings.

6. Using the odometer readings in the truck equipped with the larger tires, you determine
that the gas mileage is 18 miles per gallon. What is your actual gas mileage in miles per
gallon?

1.1128(18) = 20.02 wiles per gallon

u were driving in the truck with the larger tires and the speedometer showed a
of 65 miles per hour, could you be ticketed for exceeding the 65-mph speed
by more than 5 mph? More than 10 mph? Justify your answers.

Sinee 11128 + 65 = ?1332 [ could be ticketed far exceeding the &5-mph speed Limit by

li!"a!'h::lt is the relationship between the ratio of an actual distance to an

ice of 1 mile and the ratio of the circumference of a current tire to
ce of a factory-installed tire?

e vatios ave equivalent to k.
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